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Note : Four possible answers A, B, C and D to each question are given.

think is correct, fill that circle in front of that question with Marker or Pen i
Cutting or filling two or more circles will result in zero mark in that que

stion.
A photograph taken through a microscope is called - : uf@f — /JJﬂ}d;,L(?dc__;,C,f’L iy
Micrograph /s £, (D) Photograph 3./y (C) Tonograph /sy (B) Cardiograph iL/y5.¢ (A)
Examples of multi celluiar organization are ----- : » M), . : uz . d(} J u’%’;wjf /}1( UL ;
Mustard and euglena L;_\_lf}_, sy~ (B) f\j _Frog and euglena L:,‘JQ/,IJ;‘;:V (A)
Amoeba and euglena 1,15, sl (D) R ?f T —— U!’/A‘JJ&:‘ ©)
EEE " =3 g 7
How many molecules of ATP are formed in cellular respiration : : w&/{pkiﬁddg_tuu,;[_cﬁ’/ ‘ﬁi//,g
@ = - .4 Cd 3
32 (D) 28 (C) 40 (B) 36 (A)
Fentwalet.mosc?l:gogs need the blood of ----- for the : édn;,,,/d/wﬁﬁ — é..f/ftfu!ﬁ’é-':():/fut .
maturation of their eggs : )
Fishes UL” (D) Mammals € (C)  Reptiles # tt.) (B). Amphibians J%_iwi (A)
(»&IJJ})
(2) —
te Ol Ld 5
Where urea is formed : \ ) :
In Pancreas 45L& (D) In Liver S (C) In Gall bladder U4 JE (B) In Stomach Ufse (A)[
p 2 Wos e A2
Which enzyme is found in saliva : ) , TEE te b - - f’ i 6
Amylase ﬁ&w (D) Lipase =JU (C)  Protease y/dsy (B) PePS'T u****;(
) e UK oL
National animal of Pakistan is ----- ; ) ) o e d%)/ﬂ, (A) 7
Tiger e (D) Lion ~ (C)  Markhor s (B) Marco Polo sheepn Lo 3 J
(%3 fod . = ‘, ) g_.f 2 . .[ J:
Which type of cells never enter in GO phase : e U L}a‘g O J:ﬁ 0y (, f/z ', o 8
Nerve cells 53/ (D) Liver cells KL K (C) Epithelial cells )5‘,)..’?‘_2:1 (B) Kidney cells #~d-« s E
. . .‘.~ - 5 Ly 4 ;.' ."'“' . '_/a‘
Who proposed the induced fit model of enzymes action : U < JK I & Akl ¥ u’( /A 9
Danial KoshlandeJ.‘x.mS (D) Emil Fischer ﬁ;}‘:l ©) lon-e-Nafees/~2! (B) Jabar bin Hayan Jbiib (A)
X c L I s A
Animals get energy during the process of'-----: U d.—/ugjo Gt s Lt UZZ{/?J (A.) 10
Evaporation cﬁ/ﬁ-:l (D) Transpiration d?/’yu’ (C) Pnhotosynthesis »( ¢¢ (B) ;{espara ion ‘}
° : - : S S K sl Gl
The study of internal structure is called ----- . L ¢ ~ ‘ju " 1
Y . 5 5
Physiology G.#L7 (D)  Morphology (¥#s (C) Histology $.#¢; (B) A;tomy 2 (f)
= . S5 i )L 25
Which element regulates the opening and closing of stomata : : §,t’/ Jj/gfz.nmu Llf‘:"//‘;’; (Lj\ ) 12
Phosphorous (2#6 (D) Calcium (..'"u(C) Potassium J/"’Lif (B) Sulphur
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( PART-1 J3 )
10 2. Write short answers to any Five (5) questions : JVLL?/";LHULV (5) (‘;L P cj:( «2
(i) Differentiate between micromolecules and macromolecules. -é’f u/u"’ )}ﬂ L:/‘ul/'ra b; L)
(i) What are parasites? Give an example. iy Je .f Ut Lf u’“t/!/ (in)
(iii) Write down scientific name of frog and mustard plant. -é/f LU"L«&.»’LUV/J:!JM (iii)
(iv) How does a hypothesis differ from an observation? fe t’ru‘f’c,uul/(/) u,wg, (iv)
(v) Define bioinformatics. -é - /’ J siia 291 £io(v)

(vi) What is turger pressure? fe by U/ // // (vi)
(vil) Write down two roles of cytoplasm, /f Jw 3 L (/U' #Lo (vii)

(viii) Define magmﬂcatlon. "c_d:’(j{:t .u.\.(.u.uﬁ.u J__,,J:’,/CLU}/GI Z:_,d/"u( L (viii)
What is magnification power of an electron mtcroscope’?
10 3. Write short answers to any Five (5) questions : : é..,w/’z.,mr (5) ét & J/ -3

(i) Why eucalyptus tree is harmful for other plants? (’c_o:u Lu’u/ cB/ U /»b)‘gcw (I)

(i) Write down two effects of deforestation. é ) B L CLL L e (i)

(iii) Which animals inhabit in northern areas? ‘o &N u’(g - u:’/ et ‘dk' (i)
(iv) What is metastasis? ‘e &/ Lf”"/ b (iv)

(v) What are the advantages of meiosis? Ut M;’ Lf Z U8 (V)
(vi) Why meiosis does not occur in prokaryotes? "df u‘“ Uy'/ d/ I uj:’ /C/ (vi)

(vii) Mention four factors affecting photosynthesis. -42,6 J’f Jo dots im LI { 7 i 99 (vii)
(viii) Which is the end product of aerobic respiration? "4'_ L u:( ./(ﬂ/ S$7¢ ;//i/ J:/' (viii)

10 4. Write short answers to any Five (5) questions : d’f U?/"Z..«UV (5) ét & 8/ -4
(i) How the prosthetic group differ from co-enzyme? < b e (’l/l e C,)’ J{ .,:/ 4-(—\-\-@.3-‘-\1\_)-! (i)
(i) Explain the lock and key model of enzyme action. -z{ vk J)L d//«kfu ¥ u"'/i (”/‘ ii)
(i) What is balanced diet? e sl e 1 g (i)
(iv) Write the difference between Bolus and Chyme. _éf /f U/ s (’K 2 u’J:’ (iv)

(v) What happened if excessive water reabsorbed ¥ y/ b bk (}L P21 =\ A R B ()
from intestine?,..

(vi) Define the terms systole gdiastole. _é’f d/ J:*‘Lb /ﬂ JW (vi)

(vii) Define transpirational pull. T J/ i J "/LrJ’/ (vii)

{viii) What do you mean by pulmonary circulation? "¢ ek Ve ¢ "/ (5/;‘L (viil)

( PART-II ¢» =)

Note : Attempt any TWO questions. ol :«U}Z“:avlruééf Py
5 LS e P 2y38u8828 i fuml g S LA 2 P 5G e T (D 5
5. (a) How would you define biology and relate it with its major divisions?

4 (b) How would you "d_.d//d/ /'/J'JL:’U)L.)(/J oS LI sles sk S TL .,«l (<)
compare the structure and function of an artery, a vein and a capillary?

5 6. (a) Define endangered _d,uowg,(/u’:fyk}bd_b&tu‘ubft c{J/’J/J)f,v' () -6
species. Explain the endangered species in Pakistan.

4 (b) Explain the limiting factors in photosynthesis. -é ool d/ J/-é Kok vl b, :’:’ (_/)

5 7. (a) Write differences between prokaryotic and el 3P S .,Q/C‘ y .f;’/'/:/ (W) -7

eukaryotic cells.
4 (b) Describe the role of large intestine S s l/ o oiaSaia 3 st uuﬂ L GL T8z (L)

in absorption of water and defecation.
115-024-1-(Essay Type)-108000

N P e e e




( 2023-2025 & 2020-2022 ) (o 498 D)o s

BIOLOGY (U Ui/ - 024 e
Q. Paper : I (Objective Type) PAPER CODE = 5462 A7) 1 gydy

Time Allowed : 15 Minutes (_;;//!/u) e 15

Maximum Marks = 12 LH/Q—)_;—W 12
£V’:?://:c_ufu:f':é’fé.:&Véd‘r/md{Qlﬁ _ujéé.)D 5 C B A ezl Jivy
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

]
i/./ug

<y

The profession of biology which deals with the - :..r_i,/@-%ugpsérwﬂ&’ de_: S G

development and maintenance of different types of farms": .
Animal husbandry (s, 5wy Jexit (D) Horticulture 71054 (C)  Farming /6 (B) Forestry § 9 (A)

The element which makes 18§ nass of living organism is : : ‘at‘b;,w.hSK()'Luuu(gﬁ@ oLt

Nitrogen /44t (Q Oxygen = 1 (C) Carbon (2§ (B) Hydrogen /42 (A)

The most basic step of biggigical iethod is - ) : gfﬁdjyau/ﬁﬁfﬁ”ﬂft
Experimentationt/a@f_.D&;&(Hypothesis /f;’dg (C) Deduction cPiiﬁ (B)  Observation s.4*+ (A)
‘ "

Prions are composed of * . Wz iy
‘ iR I3 » * 5 - v
Minerals 2~ (D% FatsU¥ (C)  Proteins 1 (B)  Carbohydrates =K (A)

Celis were first described by a British scientist : : gfuy/)ét&fa.uwwiva
Robert Hooke fuss (D) Robert Brown 3zl (C) Rudolf Virchow #4555, (B) Louis Pasture A (A)

(C:i‘(jj}) ‘ Py ~

- =

(2)

RN S v g

The membrane-bounded organelles that only occur in
the cells of plant and algae are :

& i , .
Endoplasmic reticulum Hf&/_ﬂt},;k‘ (D) Plastid i~k (C) Mitochondria g/xf}:‘(. (B) Ribosome (5Ol (A)

6-1

. B A h TP
Which one is not the result of mitosis in an organism : » 4".u'.f’.6,f Ku/ydtfk'/u:uf(/@ *
ﬁ’d/)f (B)  Regeneration g8 (A

Cells reptacement . .
and growth rys ,&a’&/;&gﬁ ©)

Become half no. of chromosomes (> TK/‘ry‘u’/ (D) Development

7

e et hE S
Which is true about co-factor : .4.../»(._&/’;1, /G

.~ b ok
i inst S TA L Py UE Ay (A
Help and facilitate enzyme activity;ﬂ’?;'uﬁ(l(f_(lﬁl (B) Break hydrogen bond in proteinst Yk LS K U 234 (A)

. b
Composed of proteins u’:‘Ln‘LL ﬁ:{ (D) Increase activation energy L‘La"/.)/(f./ifx.*-/ I (C)

The major energy currency of all the cells is : . : QJ/de‘dﬁé .,/J)frv
NAD (D) Sun light u’ug{ . (C) FAD (B) ATP (A)

Stomata covers only - % age of the leaf surface is : Ut L oit o LS Ké/d/ "%L‘dr”
1-5 (D) 1-4 (C) 1-3 (B) 1-2 (A)

| ct‘lﬂ"/.:{z;//oﬁ'5u:uz%n’i@fgy¢gfuf r87

The vitamin which increases the abgorpti%n of .
minerals from intestine and deposition in bones is : o ;
vitamin-D / D¢/ts (D) Vitamin-C / Cts (C) Vitamin-B/ B ts (B) Vitamin-A/ At (A)

The cytoplasm of red blood cell is filled with haemoglobin about :

: g.t‘n’/l{;,;‘:"ccﬂrgyff"ﬁ%;év&}:ﬁé/ 12

44 100 % (D) 4 95 % (C) 44 90 % (B) 14 85 % (A)
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; ( PART -1 3l .2 )
10 2. Write short answers to any Five (5) questions : J 0) Ui/"Z Uly (5) ét & J/ -2
(i) List any four careers associated with biology. -c.,l/.//Ju;"’ ¥ loc:,(}:(.ﬁf'c,p? :’rt 0]
(i) What can you say about species? "u”é,fbfu lu";jté/u’ (ii)
(i) Write the names of vegetative organs of a plant. -éf il /C ty:':{ 3£¢..»’.f (iif)
(iv) Define science. é...u/’d/u'”b (iv)

(v) Write the steps in solving a biclogical probiein. BN -y /.«UML.L/J’ J?f '/&:’/L..ﬁ (v)
(vi) What would happen if quina quina tree was not dlsg&ered’? “b‘rbf;’df.watup(autrq// (vi)

(vii) Write down two functions of cytoplasm. "L _é/wa»L‘m}t # (vii)
(viii) Differentiate between resolution and magnification. _5/ fu/u" u.....a.(.u.\.‘.(.u J;Iu’y‘;n (viii)

10 3. Write short answers to any Five (5) questions : e &L?/"Z..«mr (5) ét = Jf -3
(i) Write down the aims of classification. 2=y /MVZM% (i)

(i) Mention the significance of binomial -c{ 5 ey ’d/ S I /dtu" el oS kil (i)

nomenclature in scientific communication.
(iii) why is a species called -é)u‘)V;Jd//u;;/leuL/’/L *’wa’u/;/,vujfo:f (iii)
endangered? Give two examples of endangered species of Pakistan.

(iv) Why crossing over during meiosis is ?g,d/;/"uﬁ(/ulué’/ul/ui u/:ﬁdé.i.:«y,ﬁ&: s (iv)
essential for genetic diversity? .
(v) How is cell replacement occur in living organisms? e drd/ J’ Hd/)’ A Uskle (V)

(vi) How is benign tumers differ from malignant tumers? "u"d_f..alfa//r o Z//’g///mjtd (vi)
(vii) What is the glycolysis? Where does it take place in (’LL}}’/,&Z;)’)UL{ s J’ “(_dru/ /lb(lf (vii)

he cell?
(viii) How do the temperature affect the rate of photosynthesis? < mumé ya //JL’/J /u’?l;’)’ (viit)
10 4. Write short answers to any Five (5) questions : : ‘J_«W/"Zuwf (5) ét == J:( -4
(i) How enzymes lower the activation energy? <‘u‘¢,/ ﬂ(J SR %1 1L }J A (i)

(ii) Differentiate between "Lock and key mode!" and -£ ubu/’u" J}Lu’}//»&’ﬂﬂ, ;LJ ,vk.fU (i)
"induced fit model".

(i) Write the sources of vitamin 'A'. -&Jdlué Pt (i)
(iv) What is the role of sodium in the human body? "L/b/l/u“()dw((':r (iv)
(v) How rhodopsin is formed? e B ¥ (V)
(vi) How plasma can be separated from blood? "alj wfﬁ“d},uyuu (vi)
(vii) Which structures are involved in transpiration in plants? T i.ﬁu‘ g/ /P'/&;U/ﬁé.u’ (vii)
(viii) Vc}llhxcrzi are')the risk factors that lead to cardiovascular S cLJLb/u,:’Jk; JJ:J ey (viii)
isorders?
( PART-1II (1) )
Note : Attempt any TWO questions. _é - U?L..«Ulr»céf tad
4 5. (a) Explain organ and organ system level. _éb»u,&ﬁ(/u"m»uf; () .5
5 (b) Define transpiration. Write the -éJlbez_.r/ul/’//l)/d/g//w'/ - /U/cﬂ/lr"/ (<)
factors that affecting the rate of transpiration.
5 6. (a) Identify the causes of éubu’/'éu’l/o’//b/L/;lugi;JLbiulf} () -6
deforestation and its effects on biodiversity.
4 _E oL Frit i Sy S AP B A (L)

(b) Explain the mechanism of respiration while defining the glycolysis, krebs cycle and
electron transport chain.

5 7. (a) What do you know about -gJUan/’-J/rJML{ "U*Lbb’/;j'g_/té://ubfvl () -7
compound tissues? Explain each kind of compound tissues.
4 (b) How vitamin ‘A’ effects the human health? "4.(:‘:’/'»1/’6}1/5_2‘&1)&" Al (&)
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